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¢ 3
o 5 %2 RIIE A4 ABN
(##B1 =) |E A
— g8 B
Xz |KECC)| KE(C) | FEEUKZE| FiiR =Xz R
S5AlEYR 4’| 234 18.3 == BE me mR
18| EVR 4| 262 20.5 =RE BE k- % |mR
9A B 29.0 21.5 =RE BE SRR me
118 BEh 19.8 16.3 =IE BE me mR
18 BEh 12.1 5.0 =IE BE me mR
38 £Y 9.8 8.0 == BE -k |
4FRIBIER _
oH DO BOD SS KEEHK
(mg/1) (mg/I) (mg/1) | (MPN/100ml)
E&(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE(75%1E) - 11 0.6(0.6) 2 =
58] 85 11 0.7 1 -
1H 7.7 8.9 <0.5 9 —
9H 8.0 8.7 0.6 1 —
11A] 8.1 11 0.6 A -
1A] 81 13 <0.5 A -
3H 7.7 12 <0.5 1 —
BEIER
N INIES S & ANfiv0L] HE HiKEB  [ZxILkiE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#E] 001LLTF | FE#EH | 0.01LLF [ 005LLF | 0.01LLF | 0.0005LLF
EiH{E - - - - - - -
58 - - - - - - -
71H - - - - - - -
98 - - - - - - -
118 - - - - - - -
18 - - - - - - -
38 - - - - - - -
So00X e |1L,2-000(1,1-0500]X-1,2->50][1,1,1-F)%0
PCB gy, | PEERE | Lrg | zFly OTFLY OT4y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#E] ELRH 10028 T | 0.002LLTF [0.004LLF| 0.02LLF | 0.04LLF 1LLF
E - - - - - - -
58 - - - - - - -
71H - - - - - - -
98 - - - - - - -
118 - - - - - - -
18 - - - - - - -
38 - - - - - - -
1,12-ry4a [F)oa0|Fr5-00I(1,3-o-A = S, ose FARUAH
axsy |[TFLY | FLr  |aFaxky FIOIL b LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EA{E] 0.006LLF 10.03LLF | 0.01LLF [0.002LLF[0.006LLF| 0.003LLF 0.02LLF
E - - - - - - -
58 - - - - - - -
71H - - - - - - -
98 - - - - - - -
118 - - - - - - -
18 - - - - - - -
38 - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
(Bl 001LLF [001LLF| 10UF 0.8LLF 1LLF
@ - - - SN —
5H - - - - -
18 - - - - -
9A8 - - - - -
;1 - - - -
1Al - - - - -
38 - - - - -
EDHIEE
Nmoe | TEX | & @ | 2E® | soofus [Tl
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 0.31 0.010 - - - -
5H - 0.42 0.007 - - - -
1H - 0.23 0.022 - - - -
9A8 - - - - - - -
118 - 0.40 0.006 - - - -
18 - 0.18 0.004 - - - -
38 - - - - - - -
BiLH HRHMRYE | VB : = i S
IT/= | g cobD el > AR BREER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) () (4 S/cm)
F{E - - 1.3 = = = -
5H - - 1.4 - - - -
1H - - 2.0 - - - -
9H - - 1.4 - - - -
Al - - 1.3 - - - -
1Al - - 0.6 - - - -
Al - - 1.0 - - - -




RIS

¢ 3
o 5 EEBE A4 ABN
(1B =) mE A
— g1 B
Xz |[SECC)| KiE(C) | FEEUKE| FiR =Xz R
S5AlEYR4A/|[ 240 18.2 == BE kEMA R mR
18| EVR 4K 293 21.6 == BE k- % mR
98 BEh 31.9 27.6 == BE SRR me
118 BEh 20.2 16.9 == BE k- mR
18 BEh 13.0 6.0 =RE BE k- mR
38 =) 10.5 7.8 =B BE R -5 ER
4FRIZIER _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE(75%1E) - 11 0.5(<0.5) 2 =
58] 80 95 0.7 4 -
71H 7.7 8.9 <0.5 4 —
98] 8.0 8.9 <0.5 4 -
18] 79 11 <0.5 4 -
1A 8.1 13 <0.5 4 -
3A] 76 12 <0.5 2 -
RBEIER
N INIES S o) ANEvoL #MFE ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LF | E#RE | 001LLF | 0.058LTF | 0.01LLF | 0.0005LLF JERRH
TiH{E - - - - - - -
5H - - - - - - -
18 - - - - - - -
9K - - - - - - -
118 - - - - - - -
18 - - - - - - -
38 - - - - - - -
oo00A nwe |1.2-090[11-S400|YR-1,2-250(1,1,1-k) 50
PCB 5 mig L% axs | TFLo A hTse
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] JE#H [0.02LLF ] 0.002LLTF [0.004LLF| 0.02LLF | 0.04LLF 1LF
E - - - - - - -
5H - - - - - - -
18 - - - - - - -
9K - - - - - - -
118 - - - - - - -
18 - - - - - - -
38 - - - - - - -
1,12-ry4a [F)oBa0|Fr5-00I(1,3-o-A = S, ose FARUAH
axsy |[TFLY | FLr  |aFaxky FIOIL Sk LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
F#{El 0.006LLTF [003LLF | 001LLF [0.002LLF0.006LLF| 0.003LLF 0.02LLF
E - - - - - - -
5H - - - - - - -
18 - - - - - - -
9K - - - - - - -
118 - - - - - - -
18 - - - - - - -
38 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
(Bl 001LLF [001LLF| 10UF 0.8LLF 1LLF
wmE - - - - [ -
5H - - - - -
18 - - - - -
9A8 - - - - -
;1 - - - -
18 - - - - -
38 - - - - -
ZDHIRE
Nonoe | 22% | 2 | @ | 2@¢ | sansus [TV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl - 0.41 0.010 - - - -
5A[ - 051 0.010 - - - -
A - 0.38 0.016 - - - -
9A8 - - - - - - -
Al - 0.56 0.008 - - - -
1Al - 0.18 0.004 - - - -
38 - - - - - -
BiLH BT [ R ; = i S
Ix/=Ib | ks cobD el > BE EREER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
FH{E - - 1.2 = = - -
5A[ - - 14 - - - -
A - - 1.5 - - - -
0B - - 1.2 - - - -
;1 - 1.3 - - - -
1Al - - 07 - - - -
Al - - 1.2 - - - -




RIS

REHIE | FAIIA A8
iR
(H#EH) mE A
— g8 B
Xz |[SECC) | KiE(°C) | FEEUKE| FiR =i BR
5A|EYRAR| 240 19.1 == BE kEMA R mR
18| EVE 4K 271 22.8 =RE BE k- mR
98 BEh 30.9 27.1 == BE Sk R me
118 BEh 23.0 18.4 == BE k- mR
18 BEh 12.7 8.3 =RE BE R - mR
38 =) 10.5 9.0 =B B ke - K EmR
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E]| 656~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE(75%1E) - 10 0.7(0.7) 2 610
58] 7.7 9.3 0.7 2 -
78] 16 9.1 0.6 5 1100
9H 7.7 9.4 1.5 3 -
118l 77 10 0.5 <1 -
1A 78 12 <05 <1 110
3A] 76 12 0.6 2 -
RBEIER
AN INIESS & E =P 3 ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
S| 001 F | E#RE | 001LLF | 0.058LTF | 0.01LLF | 0.0005LLF JERRH
EfE]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
58] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
78|  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
9K - - - - - - -
118] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
1B] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
38 - - - - - - -
o004 nwe |12-090[11-S400|Y2-1,2-240](1,1,1-k) 50
PCB gy | PRERR | nrgy | 'zFey | nIFLo AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] JE#H [0.02LLF ] 0.002LLTF [0.004LLF| 0.02LLF | 0.04LLF 1LF
EHE - <0.002 <0.0002 <0.0004 [ <0.002 <0.004 <0.1
5H - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
718 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
9K - - - - - - -
118 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
18 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
38 - - - - - - -
1,1,2-kypa (M)A FrS400x(1,3-090 = SN FARUA
aTsry | IFLY| FLr  |pFaKky FOIL| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E{E] 0.006LLTF [0.03LLF | 0.01LLF [0.002LLF |0.006 L F| 0.003LLF 0.02LLF
E{E]  <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
58] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
78] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
9K - - - - - - -
118] <o0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
1B| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
38 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEEE] 001LLF 1001LLF 10LLF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.86 <0.1 <041
5H <0.001 <0.001 0.66 <0.1 <0.1
1H <0.001 <0.001 1.2 <0.1 <0.1
9A8 - - - - -
118 <0.001 <0.001 1.0 <0.1 <0.1
18 <0.001 <0.001 0.56 <0.1 <0.1
38 - - - - -
EDHIEE
Name | 228 | 2 @ | 2E® | sanfus | TLpTY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.92 0.027 <0.04 - - -
5H - 0.79 0.020 <0.04 - - -
1H - 1.2 0.043 - - - -
9R8 - - - - - - -
118 - 1.1 0.019 - - - -
18 - 0.58 0.027 - - - -
38 - - - - - - -
BiLH BT [ R s o =3 S
IT/= | g coD el > AE EXEER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHE - - 1.7 0.02 0.02 - -
58 - - 1.4 <0.01 0.01 - -
1H - - 2.1 0.01 0.04 - -
9H - - 3.0 - - - -
118 - - 1.6 <0.01 0.01 - -
18 - - 1.0 0.03 0.01 - -
3H - — 1.2 — — — —




